
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

6, 084 × ________ = 6084 7, 785 × ________ = 7785

10, 257 × ________ = 102.57 8, 494 × ________ = 84.94

10, 808 × ________ = 1080.8 6, 353 × ________ = 635.3

9, 817 × ________ = 9817 7, 885 × ________ = 7885

4, 019 × ________ = 401.9 1, 514 × ________ = 1514

2, 189 × ________ = 218.9 7, 518 × ________ = 75.18

9, 959 × ________ = 9959 6, 158 × ________ = 6158

4, 161 × ________ = 4161 9, 092 × ________ = 90.92

4, 087 × ________ = 40.87 4, 248 × ________ = 424.8

7, 147 × ________ = 714.7 4, 295 × ________ = 42.95
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

6, 084 × 1000 = 6084 7, 785 × 1000 = 7785

10, 257 × 10 = 102.57 8, 494 × 10 = 84.94

10, 808 × 100 = 1080.8 6, 353 × 100 = 635.3

9, 817 × 1000 = 9817 7, 885 × 1000 = 7885

4, 019 × 100 = 401.9 1, 514 × 1000 = 1514

2, 189 × 100 = 218.9 7, 518 × 10 = 75.18

9, 959 × 1000 = 9959 6, 158 × 1000 = 6158

4, 161 × 1000 = 4161 9, 092 × 10 = 90.92

4, 087 × 10 = 40.87 4, 248 × 100 = 424.8

7, 147 × 100 = 714.7 4, 295 × 10 = 42.95
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